Suggested answers for SL P1 Q1

(a) Explain that when producer surplus and consumer surplus are maximised,
allocative efficiency is achieved. [10]

Answers may include:

e Definitions of consumer surplus, producer surplus, allocative efficiency

e Diagram (demand and supply) to show producer and consumer surplus and
allocative efficiency

e An explanation that consumer surplus is the difference between the price the
consumer is willing and able to pay for a good and its selling price; an
explanation that the producer surplus for a good is the difference between
the price the producer is willing and able to sell the good for and its selling
price; an explanation that the sum of consumer and producer surplus is
maximised in competitive market equilibrium and allocative efficiency is
achieved

Consumer surplus is defined as the highest price consumers are willing and able to pay for a
good minus the price actually paid. The highest price they are willing and able to pay is given
by the demand curve.

Producer surplus is defined as the price actually received by producers for selling their good
minus the price that they are willing and able to accept. The lowest price they are willing
and able to accept is shown by the supply curve.

The price actually paid and received by the consumers and producers is determined at the
market equilibrium via demand and supply forces.

Allocative efficiency is achieved when scarce resources are allocated to produce the right
amount of right goods desired by the society. In a competitive market, this is achieved when
the social surplus (i.e. the sum of producer surplus and consumer surplus) is maximised.
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The demand curve also depicts the marginal benefit as the extra benefit derived from
consuming an additional unit of the good decreases as the quantity increases (hence, the



price consumers are willing and able to pay for every subsequent unit falls according to the
law of demand).

The supply curve also depicts the marginal cost as the extra cost incurred from producing an
additional unit of the good increases as the quantity increase (hence, to cover the rising
cost, the price producers are willing and able to accept for every subsequent unit must
increase in accordance with the law of supply).

The competitive market equilibrium occurs at E, where the demand (DD=MB) and supply
(S5=MC) curves intersect. This is the point where the extra benefit to society of consuming
an additional unit of the good equals to the extra cost to society of producing an additional
unit of the good. At this point where Qe units of the good transacted in the market, the sum
of consumer surplus (AEPe) and producer surplus (OEPe) is maximised. Allocative efficiency
is achieved.

If Qa units are transacted instead, consumer surplus area will be lower at PeABC and
producer surplus area will be lower at OPeCD. This results in a welfare loss to society of area
BDE. Since MB>MC for all units between Qa and Qg, this means that the society places a
greater value on the last unit of the good produced and consumed, than it costs to produce
it. There is an underallocation of resources. Hence, more resources should be allocated to
the production and consumption of the good till all net benefit is reaped by the society (i.e.
Until Qe where MB=MC).

On the other hand, producing beyond Qe would result in MB<MC. For every unit beyond
Qe, society incurs a greater cost than the value derived from an additional unit. Resources
should be allocated away from this market such that less units should be produced and
consumed in order not to incur a net cost to the society.

Thus, society’s welfare is maximised and allocative efficiency is achieved when Qe units of
good are produced, where DD=MB meets SS=MC. At this point, consumer surplus and
producer surplus are at their maximum.

*In order to access L4/L5, students need to illustrate the effect on consumer surplus and
producer surplus when MB>MC (i.e. producing lesser than Qe).

Markers’ comments:

This question was not done well.

e Most candidates could define consumer and producer surplus and identify the
relevant areas in a DD/SS diagram. However, most stopped here and asserted that
area A is the consumer surplus and area B is the producer surplus and they are at
their maximum at the market equilibrium and thus, allocative efficiency is achieved.
This is just restating the question with nothing explained.

e A handful of students were able to use a quantity lower/higher than the market
equilibrium output, to show that the consumer surplus and producer surplus areas
would be smaller. Thereafter, it is asserted that hence, it is better for the society to
be producing the market equilibrium output for a larger social surplus area.



However, to fully address the question on how the market equilibrium where the CS
and PS areas are maximised achieves ‘allocative efficiency’, candidates are required
to use the marginalist approach to prove the condition of MB=MC.

Many students made conceptual errors to claim that a discrepancy between quantity
demanded and quantity supplied indicates allocative efficiency (e.g. If price is lower
than Pe, there is a shortage where Qs < Qd, indicating that there is an
underallocation of resources and hence, allocative inefficiency).

Marks Level descriptor

0 * The work does not reach a standard described by the descriptors below.

1-2 * The response indicates little understanding of the specific demands of the question.
« Economic theory is stated but it is not relevant.
« Economic terms are stated but they are not relevant.

3-4 * The response indicates some understanding of the specific demands of the question.
* Relevant theory is described.
« Some relevant economic terms are included.

5-6 * The response indicates understanding of the specific demands of the question,
but these demands are only partially addressed.

* Relevant economic theory is partly explained.

* Some relevant economic terms are used appropriately.

Where appropriate, relevant diagram(s) are included.

7-8 The specific demands of the question are understood and addressed.
Relevant economic theory is explained.
Relevant economic terms are used mostly appropriately.

Where appropriate, relevant diagram(s) are included and explained.

9-10 The specific demands of the question are understood and addressed.
Relevant economic theory is fully explained.
Relevant economic terms are used appropriately throughout the response.

Where appropriate, relevant diagram(s) are included and fully explained.




(b) Using real world examples, discuss the possible consequences of the imposition of
a price ceiling for the different stakeholders in a market. [15]

Answers may include:

e Define price ceiling

e Diagram (supply and demand) to show the impact of a price ceiling

e An explanation that governments impose price ceiling to protect low income
consumers; an explanation of the possible consequences of a price ceiling in
terms of keeping price below the equilibrium level, excess demand,
inefficient resource allocation, underground market, non-price rationing and
welfare impacts, in context of a RWE

e Synthesis and evaluation

Price ceiling refers to the maximum price that can be legally charged by sellers. It is usually
set in order to make certain goods more affordable to people of low income. To have an
effect, the price ceiling must be set below the equilibrium price.

An example of a price ceiling is rent control. Rent control is a policy that limits the amount
of rent that can be charged for a rental unit, how much the rent can be increased per year,
or both. One such rent control is implemented in San Francisco since 1979 and enforced by
the San Francisco Rent Board. As of 2019, the board has set the percentage by which
landlords can raise the rents to a maximum of 10% per year. This new state law of California
applies to buildings in San Francisco that were built after 1979 but before 2005. More than
60% of San Francisco rental units fall under this rent control. The landlords cannot increase
the rent due to a new roommate or a new baby arriving, except through petition proving
increased operating expenses.

Although the rent board does not set a maximum rent which is in theory how price ceilings
work, since landlords are prevented from raising the rent freely, rent will be capped at Pc,

below the otherwise equilibrium price of Pe which is based on market demand and supply
forces without any control.
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Figure 1: Effect of rent control on the market for rental housing

Consequences on consumers (i.e. tenants)

(+)
(+)

(-)
(+/-)
(-)

Lower rent of Pc for those who are able to secure a rental unit.

The rent board also offers protection for tenants from landlords’ negligence and
unfair eviction.

However, a shortage of QsQd ensues at the lower price of Pc. This means that not
all interested tenants who are willing and able to rent will be able to do so.
Consumer surplus thus increases by area PePcDC but decreases by area BCE
(Overall change in CS from area AEPe to ABDPc).

Dissatisfied people who have not succeeded in securing a rental unit are willing to
pay more than ceiling price to get it. This gives rise to underground markets which
involve transactions that are unrecorded and illegal, whereby tenants who secured
the unit at Pc sublet their apartments at rents above legal maximum.

Rent controls might lead to landlords cutting back on maintenance spending of the
existing stock of properties and this would reduce the overall quality of rented
housing and thus, consumer welfare. For example, an increased risk of damp in
houses where upkeep budgets have been cut might lead to a heightened risk of
asthma for families living in such properties.

A research paper published by Northwestern University and summarised in a Cato
Institute research brief, suggests that rent control might be a poor means of
providing tenant stability. It is found that the San Francisco's rent control law led
to an increase in both evictions and complaints about wrongful evictions being
filed with the city's rent board. Eviction notices filed with the rent board increased
by 83 percent and that the number of wrongful eviction claims increased by 125
percent.

EV: In the long run, capping rents would result in landlords withdrawing from the
rental market. Some landlords may demolish homes for rent and replace with new
housing available to buy. This would lead to a diminished supply of private sector
rented housing as seen in Fig. 2 from a fall in supply from SS1 to SS2 which in turn
would result in a larger shortage of Qs’Qd.
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Figure 2: Fall in supply of rental housing in the long term

Consequences on producers (i.e. landlords)

()

()

Producers are worse off as they are renting out a smaller quantity of Qs units at a
lower price of Pc. This reduces their total revenue from OPeEQe to OPcDQs, with
reference to Fig. 1. There is also a loss of producer surplus by the area PePcDE, out
of which a part is transferred to consumers.

EV: Although the purpose of a price ceiling is meant to ensure affordability of
necessities for low-income consumers, this aim may be unfairly pursued at the
expense of producers. In the context of rent control, some landlords may not high-
income earners who are exploiting tenants of high rents in pursuit of big profits. A
separate evidence from London suggests that three fifths of London’s landlords
own only one extra property and many are elderly relying heavily on rental income
as a source of income. In such cases, the negative consequences of rent control on
landlords will be to a larger extent.

Consequences on government

()

As price mechanism can no longer serve its rationing function, the limited quantity
of Qs units of rental housing among interested tenants can only be distributed
through non-price rationing methods. One example is via favouritism, where the
landlords end up renting out their units based on a personal bias to their preferred
tenants, such as race, religion and acquaintance. This may result in a waste of time
and resources for the government to step in to determine the eligibility and
urgency of individual tenants.



Consequences on society

(-) Overall welfare loss of area BED as consumer and producer surplus are not
maximised (This is under the assumption of perfect competition and no
externalities are present).

(+) Improvement in equity in resource distribution. The increase in affordability is
especially important as rental housing is a necessity for low-income individuals
who are unable to purchase a home of their own.

(+/-) Housing is also a merit good that generates positive externalities in consumption,
such as decrease in crime rates and improved hygiene and sanitation for the
society due to less homelessness.

EV: Should positive externalities be taken into consideration, a price ceiling may
further increase the underconsumption of housing, resulting in a larger
deadweight loss for the society than there already is.

In conclusion, price ceiling has a variety of different consequences on the various stakeholders
involved in the market. In the context of rent control in San Francisco, rent control has been
seen as a tool to maintain affordability of necessity housing for the low-income group, should
they be able to secure a unit.

This is seen from a landmark 2019 study from researchers found that indeed, tenants in rent-
controlled buildings were less likely to have moved than their counterparts in non-rent-
controlled buildings. However, the same study also found that the supply of rental housing
fell by 15 percent as landlords converted their buildings to condominiums or otherwise
withdrew them from the rental market. This lends credence to the idea that rent control
provides a mix of stability for incumbent tenants and less availability and higher prices for
new entrants in the rental housing market.

Also, as the San Francisco rent control ordinance allows landlords to reset rents to market
rates for a new tenant (a policy known as vacancy decontrol), the Stanford study found that
this gave landlords a financial incentive to get rid of rent-controlled tenants through either
eviction or negotiated payments and get a new tenant to start from paying the new market
rent.

Hence, even with price controls in place, market forces will heavily influence outcomes.
Rent controls just make the process a lot less efficient, workable, and difficult for everyone
involved. For example, landlords have to undertake the cost of filing and pursuing an
eviction and should they be successful, a tenant is forced to move and gets an eviction on
their record.

Thus, the intended positive effects of rent controls can be reaped to a larger extent with
accompanying measures in place, such as stepping up enforcement activities against
illegal/unfair evictions and eliminating various means by which landlords could remove their
units from rent control.



*In order to access L4/L5, students should present a balanced discussion of the consequences
on three different stakeholders.

Opinions or conclusions should be presented clearly and should be supported by appropriate
real world examples.

Any other valid discussion should be rewarded.
Markers’ comments:

e Part (b) was done considerably better, with all candidates who attempted this
guestion knowing how to define price ceiling, draw the price ceiling diagram and
explain the basic workings of a price ceiling (e.g. Creation of shortage).

e Most scripts identified a relevant real-world example but not many were able to use
the RWE throughout to contextualise the effects on the stakeholders.

e Some candidates cited inappropriate/wrong examples of price ceiling (e.g. Public
housing projects by HDB, some hawker centres selling affordable food under joint
project with town council, etc.)

e Many candidates were unable to identify the correct new consumer surplus area and
had an inaccurate idea that consumers can consume as much as they are willing and
able to consume at Pc (and not be bounded by a lower quantity supplied).

e Many descriptive answers with no economic analysis, especially in citing effects on
producers and the government.

e Many conclusions were just summaries.

e No attempts at any elasticities application when the question is using a DD/SS model



Level descriptor

The work does not reach a standard described by the descriptors below.

1-3

The response indicates little understanding of the specific demands of the queston.
Economic theory is stated but it is not relevant,

Economic terms are stated but they are not relevant.

The response contains no evidence of synthesis or evaluaton.

A real-world example(s) is identified but it is imelevant.

The response indicates some understanding of the specific demands of the question.
Relevant economic theory is described.

Some relevant economic tems are included.

The response contains @wdence of superficial synthesis or evaluation,

A relevant real-world example(s) is identified.

7-9

The response indicates understanding of the specific demands of the queston,
but these demands are only partially addressed.

Relevant economic theory is partly explained

Some relevant economic terms are used appropriately.

Where appropriate, relevant diagram(s) are included.

The response contains ewdence of appropriate synthesis or evaluaton but

lacks balance.

A relevant real-world example(s) is identified and partly developed in the context of
the question,

10-12

The specific demands of the gueston are undersiood and addressed.
Relevant economic theory is explaned.

Relevant economic terms are used mostly appropriately

Where appropriate, relevant diagram(s) are included and explained.

The response contains evdence of appropriate synthesis or evaluaton that is
mastly balanced.

A relevant real-world examplels) is identified and developed n the context of
the question,

13-15

The specific demands of the question are undersiood and addressed.

Relevant economic theory is fully explained

Relevant economic terms are used approprately throughout the response.

Where appropriate. relevant diagram(s) are included and fully explaned.

The response contains evidence of effective and balanced synthesis or evaluation.
A relevant real-world example(s) is identified and fully developed to supporn

the argument.




‘Candidate session number

E T e —

Candldate Name

International Baccalaureate
Baccalaureat International
Bachillerato Internacional

Anglo-Clinese School

| (Independent) l ==

At the start of each answer to a question, write the question number in the box using your normal handwriting.

PR dont ctorf an sy with diograms.. -

| =

J

"H&)“NA o
el
|
| po i iy ¥ s |
| 2N 5 A L\(> A
DD " AR ERTY SV
/ \ / Pe (" /(\\ /1
Ao . Nipeg e \‘a-hs v
B> X W;' &?--MB ‘ éﬁ Be ;u-b-—h?g)
e Piugram | Dingvzo~ 2
dudie Plosse dhiitmn o dofned as e wse of {»/ mm\« -(ow
e[)é\?(‘@m‘ — m?»nhl\ and Lorh g of ﬁvwk M}&/\aw Aot e osfle
Y, by st‘ﬁ« oA bt prtsanrcd by e duned st

fhe -t&ld—-‘wo.l MM by comnrrg e 2ud, adddvtwnl ua? of fg
Sood (F'\S\AMM— a5 pore unks G wmbmnd, e prie bns 4o AU

Lv oy 40 tayunr an  ddlddbond LBt it and et e um//bwm-,
Skmlay | Ay gl ost PP ArE by i hply MR, epréieen
A aou«% Wogig  Thpesed om Tode kS Mu,ua.\ aekd oL m (P
of q»ﬁt/~ - priaess -('.,,AL«-u. an add’AA k| —(—N.,p/ut Must
Mpere +o oFset e tagh MWMM« qu(/ﬁw&e_
Eppesnt W ogulbiuny prie avd th’j w;peM», — thott qee o pashet
Qi) et gy by ety o

| e “J”“ﬂ‘\ the priewtaigm S0 se Hhot ln Aingray |, Wans
. %.vln\-—“* hatren . ‘uﬂ.qrw\h“j’ﬁ'b 0‘4\»-11,1& predaed 3 ot

i\ ‘D plimnn O b Priram leve | —Qt/kﬁ‘—'wm«e
(] O gunes HM 2 depevmiad "ﬂ 4l waxmumn .p‘/vmwqu Mwuj\d}
(and aisle ) —év'-ul B, ,\rfon& MmNy 0 achet {@/'pm'v(ﬁv e 390&,
prpmaips vy do e _gotmnbly Unved. prodess spls @ dohed

s i prLe prodsses 'y( Ml o oMl e gord o+ @t
pr-&gj‘wd S seld ou- m: 'y v <~ thb thud M&T’f"““




M«A,W'ﬂu M4 ‘\M*W ak MW‘W["“QR—‘RY;;\

—4

|

?

[

I;\"{MU\%D(—()J{)—-M] MS«-{M%WWI«J :37%401}:1 (‘
J

|

\

u«h\‘\({"‘?‘* Qe wderdy |, prodrer syl 3 gen "1 mea/ﬁ.) |
H{‘W M"pM Wit e -d uilimin pm( e , Bv 4ne M"\-, anvticd ,|

\/(,0.5')

£ “"«Mhu! ) -HM et 8 e o ‘w\-) ‘F"""ti of thMm arol

ol e d’?’tb(dfw) 2 Wy achcered . Wk TS 1S beorge R g-VY“ﬂ MlB MLO}/ ’

"Hh(,r-VW of P‘Xwﬂ»h — MAM\as —tlﬂ Wm:p\\((ﬂ AR uw
B S R e +°u T gt profe fhe m‘ro@ﬁoM

_ henx ng eee o ne Lot ot Sege-d ouid be ki S B af e

‘LV-'\""\W lm}M wanttd Hsoad-ﬁ. kwmub‘ Qe=85~8 . . Nelieahlg ()
v 4 n— g A J = 4
ot ‘“"éi‘\"“‘““\ pw“«ul YARINTY u,«.\«. ophlw.m (a5 dekrmbed 1911 4o ~adarlt)

-k P the a,P’h‘rd-Q oo nt 9F opoo{ 3 {neouvv.oll ﬁw M.quju 0

rah ot e oflooved s 4& 'ma.-a-.w “ Lo qo.,a T smx Ophihan,

A thgs  allooive %u&&-«y .‘Mwwd

D wariely |, Gontrdir B G2 AR conuaey Gl proden e fpnS o
4

rat raxinad ik Ht gk of dityrEm) . The gua-bly bvpplied al covmuntd

I.eg MI',/MMQ -« ~ ok o'rﬁ\‘wam es ank Qe . (mv/\ M \._pg'\(q

bv, (E /AIAIW apha (L gplen L*] (r,l){h\\ g ek o &
N & / | / = 1 {
L oni—p b and [iAthom M’ Svual r-v,rl.o N ot Aolized —

A Lhec ok glle uprr GHUTAn D N Achieaed . N3 3 as Hhee 3
A\

an I wrho oot of virvets £ 4ty ,p-odah*o., of € 400

Mha Q ¢ = &, < e a.:d MG)%M— %-ef-.‘w ok pv.ab-—(so.q —_—

pod,w/,/’tw gordl Nv\tz w,,p.omm Het et dﬂ'uhbt

h«.mz,.\‘_, ~ qlen by e ekt s | ov Al lss of Sowad boetrrs

N aens DWF/:’ONPQM M{M A‘I/‘)VM ) I(MJWW) A Cove bt

hoag ren logt #‘,VE,“;M L‘ka_b] Aihgrr [ Log ne wolface (oss —

HnomW; bow g:-d- prlu MW pls are A MKM)/‘,(

M Qs @)S!M .‘_bovt) EUPM bf{"u"ﬁ(:‘} X4 an'tmed

T N

7

LA

et

(a0

N,




Candldate sessnon number

[ __v s | ‘ e

L lI ' L 2 International Baccalaureate
C d N Baccalaureat International

SRS N S aﬂl“fi ame Sl j @ ¥ c-chilerato Internacional

Anglo-Qlinese School
(Imdepradent) A -

At the start of each answer to a question, write the question number in the box using your normal handwriting.

ya
7 s

o |

7 k (\»7)7 Afm-c cedvny @ dehred as Hny may W FR \pesed (1 e 9o wuw»f)
u«-\pm.,uv qmel v SR, ftF L@(’\_;/ bt ¢ s s 3 |
Uity fngoxd o smcmert mebe Yt of A good mave abbnlibi  /
T Uttt 2 v Y2 B N2 2 1l ) i S .l PR |

OeAL A\
Oy

B

le

l

9/\ A |
e e VA |

e

l

\
l
\
TRS&S«V\ wil et o ek Gonbols )ch‘HM‘) W)A«/ WM l
mws Mposed  on et Loty th G Fm.r.,e‘o/ 'rh_mg.mw.; |
|

Sl He W@ gt for  verte] l,-w,(,ﬂ I e prce
dikrmhry o prie of ek It oy, el Svm:l-n reprantis quatdy
olrw.mi Uty 9\31&& by l;wdlovdl/\l}; i Vet g

wH-;sFM unts wllm,a—d.ty\g_!&a\ bt Comrned) W‘!‘q W/
L Sunes /MhMSA frs “u\ MR g Aty ol PRl ac 71\w\ be fe w‘
”&&zw UW\ e v-,u-hw * U pe ey, Mb—b{pw-ﬂr{_ \
M\nﬂw\ pvw.:jm-u.j /Ml&-&- O p- Abe R At e and) He aarees l
g "\'\vb}é-y\%\m stoge - By He (e 0f gomank 4"’)44(‘14”“*4&6
ML S -y/&'\ Wikl e Gran bl pﬂpﬂ ed doweriss o € s ’c*"““"‘} \
ﬁf” b~ kg %H ook difiseot tehion BA ord €S ok |
L pmch }(MMMau,-{Mw,M(MMWHKfM_ ‘

|
?‘% Mﬁlw/—s-ﬂa! s vetalbed A offon lovo Al 37 o el ‘Nv—&j 1

Veity vicmt/ Lo Gnreg , BAIY Aue o Haslo ey gorseved ;n,-eu_/;M\
uf(‘ﬂﬂ /}(‘sﬂm e WWB(’U'\&MWv“wMLQyM-LLLe #4 \

bmwmk\_(l-‘w] thaon WM&MB‘M{MWJ ied .
T effedy al—ﬂzuuw,?a;l\u elplp-v~Tasl oo . W i

=




b

|
|
|

B ‘i k7RI hs/(‘—owl!' oF {he e cedly ) Gunnueg ae fred e Gaguae
= k- Qs /s 0nly etk ananbly B fpglied) . Yok, e pree Bl vented
lovgaly  dovearst bom Pe 4o P . T3 Molides ik Cormers Ao o ast

W %%&wgmkmugMRMe#M4b«]M |
lovsv p\«\,c/lnw- 43 Lompe Ok e W Expo~si ok le5s wuty M\Aﬂ/l
g *‘Qlu,lhv! Woeven (svay \,a.u-nm el | gont bRS ag (eww g 1-2% . ’

Ty Slvope F»tt' (s horewe Lmﬁwa\; -é:'lavu—'hua-c Confneny .

\ Honses PO ope’s hagt weds oF chelter ad a poce t- lhe) o by ‘

(pvw\ et toe vayiim ok ey AkA wwjﬁ;‘f.v_.m: 1

ﬂn l’\—o-etvloh ‘o be ahle b affort s bﬂsﬂ Hca:‘@/m; el qg |
feving Y buton oy Hhatr bomet sy by omemblamter bes e
d;%po.mtk va—t-)m 4o A A o 'r'\hl e de . Loy (Honpg et |

S Tt i veey (G vofokim OF Bl rcone Cb\ Hebet item) |
s e s gty At —gensvolyy 4B Cponlily o <ppaiy
=gt oL eqf aauf Ao e )°wl azn for mmw,[owwﬁ.\m‘

,,'“}T?w-w PSRt etz Wl ard nerestnily Meorts
&. cruneg WWh brplate o Wylee gandodds of Gufs and paseily preatute
Mt people ot of po-e«t\). aK.

.‘ Yer | O cedings Wt rajov Madedgey 1 )4)1.!:‘%3 ot tre goud .

5 By ae frnd _(.,/{wW alevew %M—q of <o Go.d  Os , as
ailsves P“LLAL. Wt uthneiely aoylate 4-: (oxne—r -:on\,( reres—c
(lu-w:.lt‘v:v\ Pex Qe % P QS/)A@ bone lover Mo nes Qv lovdlow
E 9r9vﬂ,1.wsofwh'wnb1 Twwwm Gty |, ey ok
b ﬁvmalcg g fw'w - W"\% wahy oL endopdadims (e,
punyy strbrty | 4 Apply »/4« L o ST Y i 10 o i
1 e ey g ,4 4‘00 low a,-& wq:oﬁ\-wbk "["\-3 has ven (ed W A Rfee
| W)/vmlﬁ SBIF G L Ik s s & forlier (alrse
fw 9w ) Gy A vaplwg Aom renan n A matef
om0 sol(  |Epmim L,—w—q..‘\mq 6ot pondl~rintsdnd
penttnl undd | oy —Hhe TS Rlem 7«»7@ 3 Sl (sHimect
i e -t i i et T Fov )«QM +o m.wmfh e

L qAlly of fownly ANCe taf ook hcnr sdbinal <ot Oeemtl , e
Lg,([.\;;q) P bquN») dmrental o pvow . Ty devenye (N vonitd l"'“‘&tﬁ

I

B
L

l

i

e

&




Candidate sessmn number
{ J ® International Baccalaureate

—L‘L LJ -l | Baccalaureat International

Cand| teN m :
LT . Bachillerato Internacional

Anglo-Chinese Sclyool i g 7777 3 j

(Indepradent)

At the start of each answer to a question, write the question number in the box using your normal handwriting

o, ohegh et Lty to ) dlse LA ipask om *:th betlithey
m{’f’

~ R lesy kov-n\;‘ Y {p—o‘ﬂrcco\ MPIM Fegpme les s lAbwv ard hene g
N haeened umthuw of ey | wily v ComtPrbon wndes |
2 e oveing

(Lonnachon  fiymg ek .

‘M,\w u«M bres (YH2 uk(a-w on s o;o—erw-w ,ALM -ewrva O
LWl gan P’M“) Grorggt o uivnerg b ok orie dan o Har Locey
o

2FCP AR sy vipe oF rent theesds .
P T

\IIM&H socieky sffeg fom He Ufeh of %fhﬁuz el . m/’n\
MOL welfare , Lomanes  logg om wﬂq«hm C%

Podoiey (str Wy v Comsune Asnler grantly Pressltitis Om‘l)s,}é“""f
P'\krv«s bse atas cvdw/o/, IM“MF\V-M\MV) avens B/ "\+C&/
j e rmgudt 3 Mo-dM-'Sb.U 4o gociely or.\af\(r»]wa B-w(
1 ad alloshe MLfLu praiths - /0/(\“('(& ot e good 2 pNJM—LA

s Os <&e a B R M$>I}«/«*~‘“’*rn\* 9 b Q¢ (\nl.w-t)
wled o -(‘L"QC'OQQ{
7

SEre———

1 Southy sl be befew off W Not gepvriey wae

7
A~ e of ok precbteed -

Th) e clinngy Ao s obrer Mas 20 menres o prodeces . AVt
tmee Y [ ~ecdranism 3 ekl 6 Fwtl-.ll s Fnchbw < I\pv\-—r‘ch
/'\'("bvub wettods g eeded Ao dﬂ»}\“'ﬂk -’-R,Daool Wt oy gl frasye -

T by o led (f,/leug vty L33 {WM ot rentluty G

e ~ ot ot ako AU W unbetable Lty Audy gy |

—D’ fovnhsim oy wevg &, WMOW/P\'«M nadeets, Tl 13 1 UeR
e s ot 4l jwo\ ) eV vent e (Wt e glrone —Hao lm(—( Luuv\g’ //

ety 0K falel M m uncopntaded gl werey dtved
2 ) /|

4o Lovgumes whor tuve ditatzfied and Wbl o obfads ho
O = = Ay frsate Mt obiccht g0 <lir




l

L4
2]

;

\
|
|
}
|
{
\

owt by the Mmee w,(\b a~dl 08 hequi el leh\,,ﬂe G EOrpttasipt

foced "”f“al*"vl'@vf“'—w) . Ta He e € readed (,-_\.Aj’_,,u.\,,y

"4

Ayl vy ahiond by hearty vest begond e (294t i ke
W@U&Wwo(e@m }/dufu«q.g

W‘MMMU_AML‘&@V‘Q L'W(L'f .

T O, thfedy of fhe (rice ceding ot ultiatcly dopnetod ests o

ety wellhie , W Wl aun v 96 Gorernimemt (Wicrehipr, - j!u ik
~4 =7 s

ek el g onbol vl pria U ey be gl (Meetsily Bk a v
e, o fren nvu,:"), $a af o MR hecsnhiey v dale +e 4o

P’°°’- F\#@.(m.(.(- M(LO%D W San R’V\x:_;(,o) -Mf'(ﬂ‘? Z can e

L‘..ﬂwh‘uﬂ h"“) gn e ey thad [l oy H"“""(’") hae W"\W

whle reslleds poyily o e tad 'M—-n‘q o-»-c_-)u-uo(h on W%lﬁ*mj

s\ i Py vrnat-abt-Ad *of«) &,-QLLM»R IM(p)Za-J&M@

L]

* m pmh\co&h o Mt Lorer—me anod nesfine

thteds o A m i nane & rhlod helps o ,wm@eﬁw\j d

A wos Egial AR 1O s by toFsy wﬂtl’htw s¥e

Bid of B uty oA e M sgelined B aen C (Pl Ren

prrdrcen o YEZHBY Lnsinas . ire«u«..ﬁk,,ww hovnly 7 a

e, | P IED & OF buayy cladty L»Lcwm ol e nee b eHecys
on W\.(M)Md b2 nnthna . . Tha -‘(/v/'-l/"'?e ef Ml»//

bony, St Rl

ek
g’fd sl Wﬁ—{awg—eon%éme 7/>>

S i

e e

\ R

—




Question 2

(a) Explain the limitations of the Consumer Price Index (CPIl) in measuring inflation. [10]
(b) Using real-world examples, evaluate the use of government policies in reducing a
country’s rate of inflation. [15]

Suggested answer outline:
(a) Limitations of the Consumer Price Index (CPI) in measuring inflation

Define inflation - A sustained increase in the general or average level of prices and a
fall in the value of money. (keywords: sustained increase, average/general price
level)

Define CPI - A measure of the average rate of inflation which calculates the change in
the price of a representative basket of goods and services purchased by the
“average” consumer. (keywords: average prices, basket of g & s, typical/average
households)

State formula to calculate inflation — (CPlcurrent — CPlprevious)/(CPlprevious) *
100% (optional; keyword in formula: previous year, NOT base year)

Explain about 2 — 3 limitations:
e Composition bias
= CPlis calculated based on the consumption pattern of the average
household in a population.
= But individual households with different consumption patterns & qty
purchased = selected consumer baskets and weights assigned may
not be representative.
= Variation in consumer baskets may arise due to income, regional or
cultural differences. E.g. basket of goods and services consumed by a
typical households in rural vs urban areas may differ.
= |nflation rates may thus differ across households.
e Changes in consumption patterns
= Consumption patterns of households change over time. The
representative basket may NOT reflect these changes. This makes
comparability over time difficult.
= (Substitution bias) Weights based on gty purchased may change due
to substitution effect when relative price of goods & serv change =
CPI with fixed weights may thus overstate the inflation rate.

= Popularity of store discounts and sales, online shopping platforms -
prices of g&s may be lower than the indicative price in basket = CPI
may overstate inflation

= Even if the basket is updated, this limits the accuracy of comparison
over time.

e Quality change bias

= New products introduced, increased variety in consumer choices and

improvement in quality are not included in calculation of CPI.



At times, prices of goods and services rise because of quality
improvement, rather than pure price increases.

Inflation as measured by the CPI may thus overstate the true inflation
effect.

e Volatility of certain goods

There are certain goods, notably food and energy products (such as
oil) that may have volatile prices due to wide swings in demand or
supply conditions, causing large and abrupt price changes which can
often be due to temporary factors and are sometimes unrelated to
broad conditions in the economy.

When such goods are included in the CPI, they may give rise to
misleading impressions regarding the underlying rate of inflation
faced by households.

e Sampling / response/ data collection errors in measurement

Because the CPl measures price changes based on a sample of items,
the published indexes differ somewhat from what the results would
be if actual records of all retail purchases by everyone in the index
population could be used to compile the index. Moreover, there is a
risk of the right sample not being chosen. Hence the sample chosen
might not accurately represent the entire population. These
estimating or sampling errors are limitations on the accuracy of the
index, hence hindering the accuracy of the inflation rate calculated.
Non-sampling errors are caused by problems of price data collection,
logistical lags in conducting surveys, difficulties in defining basic
concepts and their operational implementation can be far more
hazardous to the accuracy of a price index than sampling errors.

e Difficulty in regional/international comparison

Differences in household composition, consumer baskets, methods of
calculation, weights assigned to g & s in the basket between countries
make the comparison of CPl and inflation rates difficult and
inaccurate.



Part (a) 10 marks

Marks Level descriptor

0 ¢ The work does not reach a standard described by the descriptors below.

1-2 ¢ The response indicates little understanding of the specific demands of the question.
¢ Economic theory is stated but it is not relevant.
* Economic terms are stated but they are not relevant.

3-4 | ¢ The response indicates some understanding of the specific demands of the question.
¢ Relevant theory is described.
* Some relevant economic terms are included.
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but these demands are only partially addressed.
¢ Relevant economic theory is partly explained.
* Some relevant economic terms are used appropriately.
Where appropriate, relevant diagram(s) are included.

7-8 | ¢ The specific demands of the question are understood and addressed.
* Relevant economic theory is explained.
¢ Relevant economic terms are used mostly appropriately.
¢ Where appropriate, relevant diagram(s) are included and explained.
9-10 The specific demands of the question are understood and addressed.

Relevant economic theory is fully explained.
Relevant economic terms are used appropriately throughout the response.
Where appropriate, relevant diagram(s) are included and fully explained.

=  Wide ranging marks awarded from 0 to 10m.

= Students need to memorise definitions which are already provided in the IB glossary. Doing
so will avoid losing unnecessary marks across all papers.

= [imitations explained need to spell out the difficulties / challenges in using CPl to measure
inflation, rather than just state the weaknesses.

= Weak responses tend to lack the basic content knowledge to answer this question and
included irrelevant weaknesses such as CPIl being unable to distinguish between demand
and cost-push inflation, unable to measure effects of economic growth, income inequality,
unable to measure changes in cost of production etc. The inclusion of these limitations
demonstrates the lack of inherent understanding of the basic function of CPl as a
measurement of inflation from the consumers/households’ perspective.



(b) Using real-world examples, evaluate the use of government policies in reducing a
country’s rate of inflation. [15]

1. Define the 2 types of inflation — demand pull and cost-push
Interpret qn — There are various policies that can be used to reduce inflation,
depending on the causes and not without their strengths and weaknesses.

2.

With RWEs, explain how either 1 contractionary demand management policies

(monetary OR fiscal policy) can be used to reduce demand pull inflation:

a) Define demand-pull inflation
b) Explain how either 1 can be used to reduce inflation rate, with RWEs and AD/AS
diagrams:

Explanation of how contractionary monetary policy (CMP) works and its
effectiveness (strengths) has to be elaborated with the use of a real-world
example;

= Define CMP

= Analysis of CMP in controlling demand-pull inflation:

» I interest rates - " cost of borrowing new loans, I cost of
servicing existing loans with variable interest rates & higher
opportunity cost of spending due to higher interest returns from
saving >, C

> With higher borrowing cost & lower expectation of investment
returns >/

» Given C, | are components of AD, the decrease in these components
will result in the \,AD from AD2 to AD3 as seen in diagram 1 hence,
addressing demand-pull inflation

Diagram 1 (Note: it is also acceptable to draw a classical AD/AS diagram and
a fall in AD to close inflationary gap)

Price level Keynesian AS
Pl
LPE
ADI
ADL
Y
Y3 Yl Real

RWEs:
= US experienced strong recovery from the COVID pandemic with the
economy expanding 5.7% in 2021 with inflation rate of 5.4% mainly



characterised by demand-pull inflation. By March 2022, US Fed hiked
interest rates from 0.25% to 0.5% to control its protracted inflation rate.

=  Norway hiked its interest rates from near 0% to 0.25% in 2021, South Korea
from 0.5% to 1% via 2 consecutive hikes in 2021, Brazil from 2% to 9.25%
via 7 consecutive hikes in 2021 and US from 0.25% in 2021 to 0.5% in March
2022 to fight inflation mainly driven by demand-pull.

4. Explain strengths and limitations of the chosen policy:

a) Strengths of CMP (optional to compare with fiscal and/or supply side policies):

Monetary policy is effective due to its strengths namely, its quick
implementation; a relatively shorter implementation lag compared to fiscal
policy that is impeded by the bureaucractic approval (or supply-side policies
that have long effect time lag from start to completion) thus, making monetary
policy the “first-responder” policy to address inflation in a timely manner to
minimise aggravation of the problem.

Ability to adjust in small incremental of 1 basis point (0.01%) allows for fine-
tuning without risking over-shooting and very flexible in its ability to easily
reverse from contractionary to expansionary in its discretionary effort which
helps to minimise overcorrection of the inflation rate. This is in contrast to
fiscal policy which decreases G and increases tax revenue which has the effect
of altering AD by a larger magnitude

As seen from the recent world-wide inflation caused by the COVID-induced
supply shortage and the Russia-Ukraine war where the US Fed further raise its
Fed funds rate from 0.5% in March 2022 to 2.5% in July 2022 in three
consecutive hikes to tame its inflation from the high of 9.1% to 8.5%.

Other possible strengths/advantages relative to alternative policies: E.g.
limited political constraints/conflicts with central bank independence relative
to fiscal policy.

b) leltatlons / Weaknesses of CMP (optional to compare with alternative policies):

A weakness of monetary policy that renders it ineffective in taming inflation

is its dependence on economic outlook or subject to offsetting factors. When

outlook is highly optimistic, the interest rate hikes may not be effective or

sufficient to curb the growth of AD in the economy (interest Inelasticity of C

&)

=>» insuch cases, the growth in C & | may require central banks to hike interest
rates rate more than once to overcome the optimism in order to achieve
the target inflation rate. This may come at a high risk of slowing down
economic growth.

=>» Uncertainty in outcomes may limit the effectiveness of contractionary
monetary policy which is dependent on how firms and households
respond to the interest rate hikes. If firms and households are optimistic
and C & | is financed by other funds other than borrowing, then AD is not
likely to fall despite the rise in cost of borrowing.

=>» Optional: In contrast, contractionary fiscal policy that lowers govt
spending, a component of AD, has a direct and more certain impact on AD
as G is less dependent on outlook or offsetting factors.



ii.  Conflict with economic growth and unemployment

=>» Tight monetary policy controls inflation by reducing AD = fall in real GDP
and rise in unemployment.

=>» For central bank that are NOT independent, with dual mandate of low
inflation and low unemployment, they may be forced to give up the fight
on inflation if unemployment becomes too high and hence reverses the
monetary policy.

iii.  Contractionary monetary policy which targets deflating AD is problematic
against cost-push inflation (define) that arises from supply-side instability in
the economy as it does not address the root cause of the problem and cost
would continue increasing. Hence reducing AD to suppress cost-inflation
inflation would be unsustainable and incur a higher tradeoff with economic
growth - make reference to Diag 2 below
= The Russian-Ukraine war in 2022 led to a global energy crunch and

increased price of energy resource in many countries including US = Cost-
push inflation — SRAS falls from SRAS1 to SRAS2 - rise in price level from
P1 to P3 and fall in real GDP from Y1 to Y2. The use of contractionary
monetary policy to control cost-push inflation can aggravate the recession
as real GDP decreases further from Y2 to Y3.

Diagram 2

Note: The use of contractionary fiscal policy to control demand-pull inflation is also
acceptable as long as it is supported by accurate RWEs and economic analysis, including its
strengths and weaknesses.

5. With RWE, explain how either 1 type of supply side policies (SSP) can be used to
reduce cost-push inflation:
a. State the different types of cost push inflation — wage push, profit push, tax push,
imported inflation
b. Define SSP & list types
c. Explain either 1 measure of market-oriented policy OR interventionist SSP which
can be used to address wage-push inflation




OR

E.g.

Define market-oriented policies and list the different types.

Explain how reducing labour market rigidities such as reducing or abolishing
the minimum wage level or reducing trade union power works to lower unit
labour cost and tackle cost — push inflation by lowering unit labour cost 2>
increase SRAS from SRAS2 to SRAS1 - lower price level from P2 to P1 and

increase real GDP from Y2 to Y1 (diag 3)
L

F2

L | ¥
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RWEs (any 1):

» Deregulation: In 2017, the United States implemented deregulatory
measures in the energy sector. This included rolling back environmental
regulations and facilitating the expansion of domestic oil and gas
production. The objective was to increase energy supply, reduce energy
costs, and potentially alleviate inflationary pressures in industries heavily
reliant on energy.

> Labour market reforms (reduce labour market rigidities): In 2019, France
introduced labour market reforms to streamline employment regulations,
simplify collective bargaining, and promote flexibility in hiring and firing
practices. These reforms aimed to address structural inefficiencies in the
labour market and increase cost competitiveness in the labour market.

» Labour market reforms (abolish minimum wage): In February 2020, the
Malaysian government revised its minimum wage policy and reduced the
minimum wage for both the Peninsular Malaysia and East Malaysia regions.
This decision was taken as part of broader economic reforms and to lower
labour cost of doing business.

> Trade liberalization: In May 2022, when inflation stood at 8.3%, trade
liberalization was proposed to President Biden as a possible solution to
tackle imported inflation. A 2-percentage point tariff-equivalent reduction
across a broad array of goods entering the US market could deliver an
estimated one-time reduction of 1.3 percentage points in CPl inflation.

Define interventionist policies and list the different types.

Explain how investment in human capital such as quality education/skill training
can be used to increase labour productivity to control wage puh inflation

- rise in LRAS as quality of labour increases = production capacity increases and
MLRAS from LRAS 1 to LRAS2 = in the long run when labour productivity increases



- J cost of production in the future period-> MSRAS from SRAS1 back to SRAS2
(Diagram 4) - price level in economy {, from P1 to P2 and higher real GDP from
Yf1 to Yf2.

C.

Diagram 4

RWEs (Any 1):
» Germany has a well-known dual education system that combines

classroom instruction with on-the-job training. In recent years, Germany
has continued to invest in this system by expanding apprenticeship
programs and offering vocational training opportunities to young people.
This investment in human capital helps to develop a skilled workforce and
improve labor productivity.

In 2020, the European Union unveiled the European Skills Agenda, which
emphasized investment in human capital as a key driver of economic
recovery and growth. The agenda focused on improving skills acquisition,
supporting lifelong learning, and facilitating labor market transitions. It
aimed to boost labor productivity by ensuring that individuals have the
necessary skills to thrive in a rapidly evolving economy through targeted
investments in education, training, and upskilling programs.

Investment in_infrastructure: In 2018, India launched the Bharatmala
project, which aimed to develop and upgrade road infrastructure across
the country. By improving transportation networks and reducing logistics
costs, such infrastructure investments can contribute to mitigating cost-
push inflation.

6. Explain 1 or 2 strengths of using SSP to reduce cost push inflation:

Achieve other macro goals unlike contractionary demand management policies
which lower AD and hence economic growth and employment.

- E.g. | in human capital & infrastructure = rise in productivity = potential
growth & lower structural unemployment (sectoral and regional) + boost income
of lowly-skilled/poor = promotes income equality and economic development.
- E.g. market-oriented policies = increase competition and efficiency 2>
potential growth; abolishing or lowering min wage can lower unemployment
arising from labour market rigidities.

Market oriented policies such as deregulation = no govt spending involved -
avoid unsustainable debt and minimise crowding out effect or opportunity cost
in the use of govt funds.




iii.  Increased competitiveness from market-based policies such as trade
liberalization and deregulation can improve consumers welfare as firms strive to
offer better and wider variety of products and services at more affordable
prices.

7. Explain 1 or 2 weaknesses of SS-side policies in tackling cost-push inflation:

i. Longterm — Lengthy effect time lag before benefits are realized due to extended
nature of the policies to boost productive capacity = unable to tackle inflation
in the short term unlike monetary policy that has a relatively short
implementation time lag as interest rates can be adjusted on a monthly basis;

ii.  Market-based policies that increases reliance on market forces — e.g.
deregulation and trade liberalisation = subject to abuse of market power and
foreign players (e.g. dumping) and exploitation of consumers + threaten
domestic employment; labour market reforms = may worsen income inequality
and subject workers to exploitation by firms

iii.  Interventionist policies can be costly as it requires govt funding to finance such
policies = strain on govt’s budget = may lead to crowding out effect if financed
through borrowing or increase burden on taxpayers. In contrast, contractionary
fiscal and monetary policy do not have such an effect.

Note: The use of currency appreciation to control imported inflation is also acceptable as
long as it is supported by accurate RWEs and economic analysis, including its strengths and
weaknesses.

Synthesis:

= It's worth noting that the effectiveness of the various policies in reducing inflation
varies depending on the causes of inflation. SSP can be effective against cost-push
since it targets the root cause of inflation originating from the SS side. Likewise,
contractionary demand management policies may be more effective in reducing
demand pull inflation for the same reason.

= Yet SSP takes time to materialize fully and with its secondary effect on AD in the short
term, it may worse inflationary pressure from since it increases G and hence AD.

= As such, Central Banks would generally rely on contractionary monetary policy as a
quick and first responder policy to prevent inflation from escalating regardless of the
cause. This is especially true for central banks that have gained independence and
been given the primary role of maintaining price stability through the use of monetary
tools.

= Hence it is not uncommon to see governments using a policy mix of both monetary
policy and supply-side policies to reduce the rate of inflation in the short term while
promoting price stability in the long term.




Part (b) 15 marks

Marks Level descriptor

0 ¢ The work does not reach a standard described by the descriptors below.

1-3 The response indicates little understanding of the specific demands of the question.
Economic theory is stated but it is not relevant.

Economic terms are stated but they are not relevant.

The response contains no evidence of synthesis or evaluation.

A real-world example(s) is identified but it is imelevant.

The response indicates some understanding of the specific demands of the question.
Relevant economic theory is described.

Some relevant economic terms are included.

The response contains evidence of superficial synthesis or evaluation.

A relevant real-world example(s) is identified.

7-9

The response indicates understanding of the specific demands of the question,

but these demands are only partially addressed.

Relevant economic theory is partly explained.

Some relevant economic terms are used appropriately.

Where appropriate, relevant diagram(s) are included.

The response contains evidence of appropriate synthesis or evaluation but

lacks balance.

* A relevant real-world example(s) is identified and partly developed in the context of
the question.

10-12 The specific demands of the question are understood and addressed.

Relevant economic theory is explained.

Relevant economic terms are used mostly appropriately.

Where appropriate, relevant diagram(s) are included and explained.

The response contains evidence of appropriate synthesis or evaluation that is

mostly balanced.

* A relevant real-world example(s) is identified and developed in the context of
the question.

13-15 The specific demands of the question are understood and addressed.

Relevant economic theory is fully explained

Relevant economic terms are used appropriately throughout the response.

Where appropriate, relevant diagram(s) are included and fully explained.

The response contains evidence of effective and balanced synthesis or evaluation.
A relevant real-world example(s) is identified and fully developed to support

the argument.

= Students seem to be relatively more prepared for this question compared to (a), largely
due to ample exposure to similar questions but on a different macroeconomic area of
focus. That said, it is disappointing to see some students not doing well for this due to
weak conceptual understanding or underdeveloped ideas, especially when discussing
strengths and weaknesses of the selected policies.

= An area worth highlighting is that students tend to exclude the primary effect of SSP on
LRAS and explained how interventionist SSP will increase SRAS directly even though the
rise in productive capacity is acknowledged. This issue seemed to be carried over from
previous assignments/common test.

=  RWEs when applied effectively can enhance the quality of the essay. That said, a handful
still included historical or outdated RWEs when there are more recent ones of similar
nature/situation.



= Students that access the higher marks tend to be those that can produce more targeted
discussion the selected policies based on the 2 different causes of inflation and
supported by effective RWEs and diagrams, rather than a generic approach of lowering
inflation.

= There seems to be an excessive selection of contractionary fiscal policy (over
contractionary monetary policy), paired with interventionist SSP. While both policies are
acceptable, those who discussed the 2 policies tend to approach it in a contradictory
manner — often suggesting the use of contractionary fiscal policy in the short term via
lowering G and then only to increase AS by increasing G in terms of interventionist
policies. As such, students were unable to arrive at a coherent synthesis.

= |tis strange to see some scripts which regarded monetary policy as a central bank
policy, distinct from government policy, citing central bank independence as the reason.
That said, students need to be aware that NOT all central banks are independent.
Moreover, central bank, whether independent or not, is the institutionalised conductor
of monetary policy for the economy.
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Question 3 (HL and SL)
a) Explain how a recession can lead to poverty. (10m)

Answers may include:
Definition of recession, poverty.

AD/AS Diagram to show how a recession happens and fall in income. Poverty cycle diagram
to show how a fall in income could lead to a poverty trap.
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Poverty Cycle

~-

Low natural Low physical Low human
capital capital capital

Low growth in e Low productivity

income of labour

(optional)

- Explanation that a fall in AD could result in recessions and therefore a fall in income.
AD falls due to a fall in the components of AD, either C, I, G or (X-M). There should be
clear analysis and reference to the diagrams.

Eg: With a decrease in net exports, the AD of a country could fall from AD to AD1 and this
would result in a decrease in real GDP from Y to Y1 and price levels from P to P1. This leads
to a recession which is a decrease in real GDP over 2 consecutive quarters. With recessions,
more people could lose their jobs due to a fall in demand for labour as less labour is



demanded due to lower real output being produced. This results in a fall in income for the
individual.
- Link fall of income to increased levels of poverty through poverty cycle.

With lower incomes, as seen in the poverty cycle above, it would lead to lower savings and
thus lower investment which could lead to lower growth and thus lower income again. This
means that low incomes could perpetuate across generations resulting in people being
stuck in a poverty trap.

Comments:

Most Students were able to explain how a fall in AD could lead to a recession. However, an
explanation of business cycles did very little to explain how poverty could have resulted. The
link to poverty was less well done as students were not able to link recession to job losses
and therefore income falls. Causation and effect here tended to be confused.

Part (a) 10 marks

Marks Level descriptor

0 ¢ The work does not reach a standard described by the descriptors below.

1-2 ¢ The response indicates little understanding of the specific demands of the question.
¢ Economic theory is stated but it is not relevant.
¢ Economic terms are stated but they are not relevant.

34 ¢ The response indicates some understanding of the specific demands of the question.
¢ Relevant theory is described.
¢ Some relevant economic terms are included.

5-6 ¢ The response indicates understanding of the specific demands of the question,
but these demands are only partially addressed.

¢ Relevant economic theory is partly explained.

* Some relevant economic terms are used appropriately.

Where appropriate, relevant diagram(s) are included.

7-8 The specific demands of the question are understood and addressed.
Relevant economic theory is explained.
Relevant economic terms are used mostly appropriately.

Where appropriate, relevant diagram(s) are included and explained.

9-10 The specific demands of the question are understood and addressed.
Relevant economic theory is fully explained.
Relevant economic terms are used appropriately throughout the response.

Where appropriate, relevant diagram(s) are included and fully explained.

b) Using real world examples, evaluate the effectiveness of FDI in promoting economic
growth and economic development. (15m)

Answers may include:
Definition of FDI, economic growth and development



Pros of FDI
* Supplement foreign exchange earnings

* Inflow in financial account can offset current account deficits
* Allow for greater export earnings

e Supplements and improves upon local technical and management skills and
technology

* One of the important advantages of FDI

* Increases level of human capital and productivity

* Allows for the country to move up in the stages of development
e Bridging the savings gap

* Supplement insufficient domestic savings increasing the amount of
investment (AD/AS diagram to show AD increasing)

e Usually helps to increase level of physical capital

* Breaking the poverty cycle (poverty cycle diagram to be used)
* Greater tax revenues

*  MNCs contribute to tax revenue of the country
* Help promote local industry

*  When local products are bought as inputs
* Increase employment and thus contribute to growth

* Stems from increased investment and thus increased AD

Should link to growth and development in order to get higher level grades

Eg of analysis:

FDI inflows into Vietnam have increased significantly over the past three decades, rising
from 180,000 USD in 1990 to 15.7 billion USD in 2021. FDI inflows have helped to sustain
Vietnam's impressive economic growth, which averaged 6.8% per year from 2016 to 2019,
making it one of the fastest-growing economies in the region.



slam

fead &P

With an increase in FDI, this would result in an increase in AD from AD to AD1 due to
increase in |, which would result in an increase in GDP from Y to Y1, hence achieving short
term economic growth. Due to the greater aggregate demand for goods and services, the
derived demand for labour would also increase. This allows for an increase in employment.
Increase in incomes would mean an increase in material welfare for the Vietnamese as they
can now afford a greater amount of goods and services. The Vietnamese government would
also see a boost in tax revenues from both increases in income and corporate tax. If spent
appropriately on merit and public goods would boost non material welfare and help
promote economic growth and development.

FDI may not lead to growth or development as

1)
2)
3)
4)

5)

6)

7)

Profit repatriation

Hiring from their own countries so may not lead to knowledge flow
Tax privileges given to MNCs

May force local businesses out of business instead

Capital intensive industries may not be suitable for the developing country and
would not increase employment

Environmental degradation

1) Usually they invest in countries that do not have heavy regulations on
pollution

Promote inappropriate consumption patterns

1) Advertising on the consumption of goods that are more suited to a lifestyle in
a developed country



8) Infrastructure building more suitable to MNC
1) The infrastructure built may not be suitable for the developing country
2) Scarce resources are shifted away from providing goods for the people
9) MNCs have too much political power
1) Countries may make decisions to please the MNCs
2) These could be detrimental to the people

3) MNCs have threatened to pull out of the developing country if demands are
not met

10) Race to the bottom
1) Developing countries compete for FDI
2) The desire to host FDI may involve sacrifices of needed development

Eg of analysis:

Due to the governments prioritising economic growth, many developing countries have less
stringent pollution laws as compared to developed countries. This may attract MNCs into
investing into the country and setting up firms which are highly polluting in nature. As seen
in China, where the average PM2.5 is 30.2 ug/m3, however the WHO guidelines is at 5
pg/m?3. This could result in an average potential gain in life expectancy of 2.47 years should
the guidelines be met. This would directly help to improve the HDI of country. A better living
environment would also result in an improvement in non-material welfare of the country.
Therefore, FDI in this case may not actually contribute to an increase in economic growth
and development as the impacts on health and non-material welfare may outweigh that of
increased incomes.

Any other points

Synthesis suggestion: to what extent a country benefits from FDI depends heavily on how
the countries can manage the disadvantages that come with over reliance on MNCs or the
exposure of domestic industries to foreign competition. There is no hard and fast rule to
how much FDI is healthy, however, governments should learn to strike a balance.



Part (b) 15 marks

Marks Level descriptor

0 ¢ The work does not reach a standard described by the descriptors below.

13 The response indicates little understanding of the specific demands of the question.
Economic theory is stated but it is not relevant.

Economic terms are stated but they are not relevant.

The response contains no evidence of synthesis or evaluation.

A real-world example(s) is identified but it is imelevant.

The response indicates some understanding of the specific demands of the question.
Relevant economic theory is described.

Some relevant economic terms are included.

The response contains evidence of superficial synthesis or evaluation.

A relevant real-world example(s) is identified.

7-9

The response indicates understanding of the specific demands of the question,

but these demands are only partially addressed.

Relevant economic theory is partly explained.

Some relevant economic terms are used appropriately.

Where appropriate, relevant diagram(s) are included.

The response contains evidence of appropriate synthesis or evaluation but

lacks balance.

* A relevant real-world example(s) is identified and partly developed in the context of
the question.

10-12 The specific demands of the question are understood and addressed.

Relevant economic theory is explained.

Relevant economic terms are used mostly appropriately.

Where appropriate, relevant diagram(s) are included and explained.

The response contains evidence of appropriate synthesis or evaluation that is

mostly balanced.

* A relevant real-world example(s) is identified and developed in the context of
the question.

13-15 The specific demands of the question are understood and addressed.

Relevant economic theory is fully explained

Relevant economic terms are used appropriately throughout the response.

Where appropriate, relevant diagram(s) are included and fully explained.

The response contains evidence of effective and balanced synthesis or evaluation.
A relevant real-world example(s) is identified and fully developed to support

the argument.

Comments:

This was a rather poorly attempted question in terms of examples and application. Although
the students were able to explain the theory but the application of examples lacked
understanding of the question. There is little value in using developed countries as examples
in the question nor is it appropriate to state that FDI would not benefit developing
countries. The benefits to non-material welfare is usually not addressed which makes the
answer rather limited. Students were only required to have 2 well developed points for each
side.
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